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=] A N~ ~sE3 3 an AR88 or HRO valve radio and
! 3 = you wouldn’t know you were
2] o No— 2 =53 e listening to the same station.
ol N " =la 3 o Where a strong CW signal sounds
' < i ‘clean’ on one, it sounds a ‘pure
o N = o> M_E DC note’ on the other.
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—= —o\I%— = N2 g3 % communications sets (or even a
o N = 2o = . KW 2000) because thg-mgnal .levels
| S are so much lower with transistor
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- | dis « o even worse when you.con.trol‘the
— J\>—. 58c 3 :-E frequency of an LC circuit with
: Ta any kind of varicap diode. Not

= only do the signal levels have to be
even lower for them to operate at
all, but they have a substantial
A noise contribution all of their own.
The result is that the circuit given
here, and those of most other
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—Nw© 5 g compromise.
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£ &8 g 88 3 23 FIG.6 clarity of my old HRO but I can't.

The circuit given here represents
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